Extra Problem on the Cash Flow Identity and the Statement of Cash Flows 

ANSWERS

(1) OCF = EBIT + Depreciation - Taxes = 283.80 + 100 - 78.30 = 305.50
(2) Capital Spending = 130 + 100 = 230.00
(3) Additions to NWC = (1,000 - 310) - (810 - 220) = 100.00

(4) CF from Assets = 305.50 - 230.00 - 100.00 = -24.50
(5) Dividends = 113.50 - 56.00 = 57.50 (To common stockholders)

(6) No

(7) Yes: 754 - 580 = 174.00
(8) CF to Creditors = 88 - 174 = -86.00
(9) CF to Common Stockholders + CF to Preferred Stockholders = 57.50 + 4.00 = 61.50
(10) CF from Assets = CF to Creditors + CF to Stockholders

-24.50 = -86.00 + 61.50

(11) Willy Wonka decreased CASH on the balance sheet by 70, hence -70 should be the outcome from the Statement of Cash Flows

(12) Source (+) = cash inflow; Use (-) = cash outflow

(13) Net Income before Preferred Dividend
+117.50

Depreciation




+100.00

Increase in Accounts Receivables

-   60.00

Increase in Inventories


- 200.00

Increase in Accounts Payable


+  30.00

Increase in Accruals



+  10.00
OPERATING ACTIVITIES

-     2.50

(14)
Increase in Plant and Equipment

-130.00


Depreciation




-100.00


INVESTMENT ACTIVITIES

-230.00

(15)
Increase in Notes Payable


+ 50.00


Increase in Long-term Bonds


+174.00


Common Dividends



-  57.50


Preferred Dividends



-    4.00


FINANCING ACTIVITIES


+162.50

(16)
-2.50 -230.00 + 162.50 = -70.00
(17)
Use - any increase in assets (inventories) is a use of cash)

(18) Source - any increase in a liability (accounts payable) is a source of cash)

(19) Use - any increase in assets (accounts receivables) is a use of cash)

